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1.1
01 hello.
hello.

02 agirl
a boy
a boy
a girl

03 The girl is eating.
The girl is drinking.

The boy is eating.

The boy is drinking.

04 a girl
a boy

05 The girl is drinking.
The boy is drinking.

The girl is eating.
The boy is eating.

06 a woman
aman

a woman
aman

07 a woman
a man
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08 The woman is
drinking.

The man is eating.
The woman is eating.
The man is drinking.

09 The man is eating.
The woman is eating.
The girl is eating.
The boy is eating.

10 The man is eating.
The girl is drinking.
The man is drinking.
The girl is eating.

11 The girl is running.
The boy is running.
The man is running.

The woman is running.

12 The girl is reading.
The boy is reading.
The man is reading.

The woman is reading.

13 The woman is
running.

The woman is reading.
The woman is drinking.

The woman is eating.
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14 The boy is running.
The boy is eating.

The boy is drinking.
The boy is reading.

15 The girl is drinking.
The girls are drinking.
The boy is eating.
The boys are eating.

16 The girl is running.
The girls are running.
The man is drinking.

The men are drinking.

17 The boy is reading.
The boys are reading.
The woman is eating.

The women are eating.

18 The men are
reading.

The women are
reading.

The men are running.
The women are
running.

19 The girl is reading.

The women are
reading.
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The woman is reading.
The girls are reading.

20
boys
girls
men
women

21 The boys are eating.
The girls are running.

The women are
drinking.
The men are reading.

22 heis running.
he is eating.
She is drinking.
She is reading.

23 heis running.
She is drinking.
They are eating.
They are reading.

24 he is running.
She is running.
They are running.

25 he is cooking.
She is cooking.
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They are cooking.

26 The boys are
swimming.

The girl is swimming.
The man is swimming.

The women are
swimming.

27 The man is cooking.
The men are cooking.
The man is eating.

The men are eating.

28 The woman is
running.

The woman is
swimming.

The women are
running.

The women are
swimming.

29 he is swimming.
he is running.

he is cooking.

he is eating.

30 She is writing.
he is writing.
They are writing.
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31 They are eating.
They are cooking.
They are swimming.
They are writing.

32 The girls are
reading.

The girl is reading.
The girls are writing.
The girl is writing.

33 She is reading.
he is drinking.
She is writing.
he is eating.

34 She is drinking.
She is eating.

he is drinking.

he is eating.

35 goodbye.
Goodbye.

1.2

1 hello.
hello.

02 a sandwich, a
sandwich, a sandwich
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an egg, an egg,
an apple

3 bread, bread, bread
coffee, coffee,
milk

04 a sandwich,

an egg,
an apple

bread,
coffee,
milk

05 a girl and a woman
a boy and a man
a sandwich and milk

06 a man and a woman

rice and an apple
bread and water

07 The boy is drinking
milk.

The woman is drinking
coffee.

The boy and the man
are drinking water.
The girl is eating bread.
The man is eating an
egg.
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The man and the

woman are eating rice.

08 She is eating an

apple.
he is eating rice.

They are eating eggs.

They are eating
sandwiches.

09 They are eating

eggs.
They are eating
sandwiches.

he is eating rice.
She is drinking water.

10 a dog, a dog, a dog

a cat, a cat,
a horse

11 a car, a car, acar
a hewspaper, a
newspaper,

a bicycle

12 a dog, a cat, a horse

a car, a newspaper,
a bicycle
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13 The man is driving a
car.
The woman is driving a
car.

The boy is walking.
The girl is walking.

14 The man is running.
The woman is walking.
The girl is running.
The boy is walking.

15 They are eating
apples.

he is driving a car.

They are reading a
newspaper.

She is reading a book.
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You + have (54
they

I
We

You + have + not (s

they

16 he has a cat.

She has a dog.

They have a
newspaper.

17 he has a car.
She has sandwiches.

They have a horse.

18 he has books.
She has a fish.
They have pens.

19 a book
a pen
a fish

20 he is sleeping.
She is sleeping.
They are sleeping.

21 The fishis
swimming.
The cat is sleeping.
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The dog is eating.
The horse is running.

22 They are swimming.

They are reading.
They are walking.
They are sleeping.

23 The children are
drinking.
The adults are eating.

The children are
swimming.

The adults are running.

24 The child is running.

The children are
running.
The adult is reading.

The adults are reading.
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Subject + (am, is, are) + not + v.ing

25 The man is driving.
The boy is not driving.
The woman is driving.
The girl is not driving.
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26 The adults are
cooking.

The adults are not
cooking.

The children are
writing.

The children are not
writing.

The woman is driving.
The woman is not
driving.

27 They are swimming.

They are not
swimming.

he is sleeping.

he is not sleeping.

28 They are not
cooking.

They are eating.
They are cooking.
They are not eating.
he is not walking.
he is running.

he is walking.

he is not running.

29 The women have
rice.

The women do not
have rice.
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The boy has a pen.

The boy does not have
a pen.

30 The boy has milk.

The boy does not have
milk.

The girls have bicycles.

The girls do not have
bicycles.

31 The dog is running.

The dog is not running.

The boys have water.

The boys do not have
water.
Am- is- are

32 What is this?
This is an apple.
What is this?

This is a newspaper.

33 What is this?
This is a cat.
What is this?
This is a bicycle.

34 What is this?
This is an egg.
What is this?
This is a pen.
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What is this? w3 e g i Ao
This is a fish. Ol 48 311 e ASAula 4
What is this? w3 e g A Al
This is rice. el O od As y dedd
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35 is he sleeping? Sanule o €5 5 51 AR g3 VO
Yes, he is sleeping. Sannle 308 4 (sl 055 AR A (o
is she sleeping? Sl 18 50 €5 5 5 AR gl
no, She is not sleeping. Sanule Gy ol 0999 ARAS g4d ¢ yIAA]

36 is the dog
swimming?

Yes.

is the horse swimming?

no.

37 is she reading a
newspaper?

no.

is she reading a book?
Yes.

38 is he eating an
apple?
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no.
is he eating an apple?
Yes.

39 goodbye.
goodbye.

1.3
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You +are (540
They

We

You + are + not Al

they

01 hello.
hello.

02 white, white, white

black, black,
red

3 blue, blue, blue
green, green,
yellow

04 blue, white, green
black, red,
yellow

05 The milk is white.
The rice is white.
The car is white.
The car is green.
The apple is green.
The bicycle is green.

06 The eggs are red.
The bicycles are red.
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The apples are green.
The pens are green.
The cars are white.

The bicycles are white.

07 The egg is blue.
The eggs are blue.

The bicycle is yellow.

The bicycles are
yellow.

The car is black.
The cars are black.
The ball is red.
The balls are red.

08 The car is red.
The cars are red.
The cat is black.

The cats are black.

09 The fish is red.
The fish are red.
The bicycle is yellow.

The bicycles are
yellow.

10 itis red.
it is blue.

it is black.
it is white.
itis green.
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11itis red.
They are white.
itis yellow.
They are green.

12 itis black and white.

They are red.
They are white.
it is blue and green.

13 The dog is black.
The dog is white.
The cat is black.
The cat is white.

14 The grass is green.
The sky is blue.

The moon is white.
The sun is yellow.
The flower is red.

15 The sun is yellow.
The apple is yellow.
The sky is blue.

The egg is blue.

16 The moon is white.

The car is white.
The grass is green.
The ball is green.
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17 The flower is small.
The egg is small.

The flowers are small.
The eggs are small.

18 The flowers are big.

The books are big.
The fish is big.
The egg is big.

19 The dog is big.
The dog is small.
The flowers are big.

The flowers are small.

20 She is a doctor.
he is a teacher.

They are police
officers.

21 heis a student.
She is a student.
They are students.

22 heis a police
officer.

She is a teacher.
he is a doctor.
They are students.
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23 iam a boy.
iamagirl.
iama man.

iam a woman.

24 i am a teacher.
i am not a teacher.
i am a doctor.

i am not a doctor.
i am a student.

i am not a student.

25 i have a green book.

i have a yellow book.
i have a red book.

26 You have a green
book.

You have a yellow
book.

You have a red book.

27 Are you a doctor?
Yes, i am a doctor.
Are you a doctor?
no, i am not a doctor.

28 What are you
drinking?

i am drinking water.
What are you eating?
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i am eating rice.

|
We

. e4ds+do + You + base

They
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29 What do you have?
i have a sandwich.
What do you have?

i have a pen.

30iam a teacher.
We are teachers.
iam a girl.

We are girls.

31 We are girls.

We are boys.

We are police officers.
We are doctors.

32 i have a red bicycle.

We have green
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bicycles.
i have red apples.
We have green apples.

33 i have red flowers.
You have red flowers.
he has red flowers.
She has red flowers.
We have red flowers.
They have red flowers.

34 What is the man
doing?

The man is cooking.
What is the woman
doing?

The woman is reading.
What is the boy doing?

The boy is running.

35 What is the doctor
doing?

The doctor is writing.
What is the police
officer doing?

The police officer is
driving.

What is the girl doing?
The girl is walking.

36 What are you
doing?
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i am writing.

What are you doing?

i am driving.

37 goodbye.
goodbye.

1.4
01 hello.
hello.

02 one car
one egg

two dogs

two pens
three bicycles
three cats

03 four boys
four men

six girls

five books

five newspapers
six apples

04 one
two
three
four
five
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05 one, two, three
six, one, three, five,
two,

two, four, six

one, two, three, four,
five

06 There is one fish.
There is one book.
There is one woman.
There is one egg.
There is one child.

There is one cell
phone.

07 There are five fish.

There are three books.
There are four women.

There are six eggs.

There are two children.

There is one cell
phone.

08 There are two cell
phones.

There are three balls.
There is one bed.
There are four keys.

09 There is one cup.
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There are four chairs.

There are two tables.

There are three
phones.

10 There is one ball.

There are three chairs.

There are two tables.
There is one table.

11 how many fish are
there?

There are three fish.
how many keys are
there?

There are four keys.

how many police
officers are there?
There are two police
officers.

how many apples are
there?

There is one apple.

12 how many chairs
are there?

There are six chairs.

how many phones are
there?

There are five phones.

how many beds are
there?

There are two beds.
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13 There are three
eggs.

There are five eggs.
There are four cups.

There are six cups.

14 Three plates are
white.

Two apples are green.
One flower is red.
Four bowls are blue.

15 how many tables
are white?

Two tables are white.

how many balls are
red?

One ball is red.

how many bowls are
yellow?

Two bowls are yellow.

how many phones are
black?

One phone is black.

16 shoes, shoes, shoes
a shirt, a shirt,
pants

17 a coat, a coat, a
coat
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a dress, a dress, a skirt

18 shoes, a shirt, pants

a coat, a dress, a skirt

19 a blue shirt

a red shirt

a green T-shirt

a yellow T-shirt

20 how many cups do
you have?

We have four cups.

how many sandwiches
do you have?

We have five
sandwiches.

21 how many bowls do
you have?

i have three bowls.

how many plates do
you have?

i have two plates.

22 i have yellow
flowers.

You have red flowers.

We have white
flowers.

You have blue flowers.
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23 The girl is wearing a
T-shirt.

The boy is not wearing
a T-shirt.

The woman is wearing
shoes.

The man is not wearing
shoes.

24 The boy is wearing
pants.

The girl is not wearing
pants.

She is wearing a skirt.
The men are wearing
hats.

Three women are
wearing pants.

One woman is wearing
a dress.

25 The woman is
wearing a dress.

The woman is wearing
a skirt.

The woman is wearing
pants.

The woman is wearing
a hat.

26 he is buying one
hat.

She is buying two hats.
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he is buying three T-
shirts.
She is buying four T-
shirts.

27 The man is wearing
a coat.

The man is buying a
coat.

The man is wearing a
hat.

The man is buying a
hat.

28 i am buying a skirt.
i am wearing a skirt.

i am buying pants.

i am wearing pants.

29 Who is eating?
The police officer is
eating.

Who is reading?
The students are
reading.

Who is drinking?
The women are
drinking.

Who is writing?
The girl is writing.

30 Who has the hat?
The woman has the
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hat.
Who has the ball?
The boy has the ball.

Who has the books?

The girls have the
books.

Who has the
newspaper?

The doctor has the
newspaper.

31 Who is wearing
shoes?

i am wearing shoes.
Who is wearing a hat?
We are wearing hats.

32 Who is walking?
We are walking.
Who is running?
We are running.

33 how many trees are
there?

There are three trees.

how many trees are
there?

There are four trees.

how many bowls are
there?

There is one bowl.
how many children are
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there?

There are six children.

34 What is this?
This is bread.
What is this?
This is a bed.
What is this?
This is water.
What is this?
This is a plate.

35 What is this?
This is a tree.
is the grass green?

Yes, The grass is green.

36 What is this?

This is a bicycle.

how many bicycles are
there?

There are three
bicycles.

Who has a bicycle?
She has a bicycle.

Does she have a
bicycle?
Yes.

37 What is this?
This is a sandwich.
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how many sandwiches
are there?

There are two
sandwiches.

Are you eating
sandwiches?

Yes.

38 how many keys are
there?

There are four keys.
What are you doing?
We are writing.

Do you have fish?
Yes.

is the horse black?

no, The horse is not
black.

39 hello.
goodbye.
hello.

goodbye.
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He
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It
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1 hello.
hello.

2 Do you have a dog?
Yes, i have a dog.

3 What are you doing?
i am reading.

4 \WWhat is this?
This is coffee.

5 Do you have a cup?
Yes, i have a cup.

6 What do you have?
i have bread.

7 What do you have?
We have apples.
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